3.1 Covariant derivative and connection

In the flat Minkowski' space we should that partial derivatives of tensors form new higher rank denors:  

$$\partial : \int_{0}^{\infty} \frac{1}{2} \sum_{n=1}^{\infty} \frac{1}{2} \sum_{n=1}^{\infty} \sum_{n=1}^{\infty} \frac{1}{2} \sum_{n=1}^{\infty} \frac{1}{2} \sum_{n=1}^{\infty} \sum_{n=1}^{\infty} \sum_{n=1}^{\infty} \frac{1}{2} \sum_{n=1}^{\infty} \sum$$

Consider now e.g. a covariant derivative of a vector  $V \in T_p$  which should give a (1,1) tensor  $\nabla V = (\nabla_v V^m) dx^w \otimes \partial_p$ 

$$\nabla V = \nabla (V^{n})_{p} = (\nabla V^{n})_{p} + V^{n} V_{p},$$

$$V^{n}(D) = \frac{dx^{n}(P)}{dx} defines a function (in a given and red)$$

$$V^{n}(D) = \frac{dx^{n}(P)}{dx} defines a function (in a given and red)$$

$$V^{n}(D) = \frac{dx^{n}(P)}{dx} defines = \nabla V^{n} = \frac{d}{dx} V^{n} dx^{n}$$

$$= \frac{d}{dx} V^{n} dx^{n} = \frac{d}{dx} + V^{n} T \partial_{0},$$

$$T \partial_{0} = dx^{n} \otimes (T, \partial_{0}),$$

$$Now define : \int Connection coefficients$$

$$T \partial_{0} = dx^{n} \otimes (T, \partial_{0}),$$

$$Now define : \int Connection coefficients$$

$$T \partial_{0} = \int V^{n} dx^{n} \otimes \partial_{0} = (T, V^{n}) dx^{n} \otimes \partial_{0}$$

$$They we get that the component of the covariant derivative of a vector arc given by:$$

$$(3.01) \qquad T_{0} V^{n} + \int V^{n} V^{n} \int V^{n} dx^{n} \otimes \partial_{0} = (T, V^{n}) dx^{n} \otimes \partial_{0}$$

$$Let as see how the connection coefficients (T transform under  $x^{n} \Rightarrow x^{n}$ 

$$T_{0} V^{n} = \frac{d}{dx^{n}} \frac{dx^{n}}{dx^{n}} \frac{dx^{n$$$$

$$= \frac{\partial \chi^{\alpha}}{\partial \chi^{\nu}} \frac{\partial \chi^{n'}}{\partial \chi^{\beta}} \left( \frac{\partial \chi^{\beta}}{\partial x^{\nu}} + \int_{\alpha r}^{r\beta} V^{\beta} \right) = \frac{\partial \psi}{\partial \chi^{\alpha}} \left( \frac{\partial \chi^{n'}}{\partial x^{\alpha}} V^{\alpha} \right) + \int_{\nu'\sigma'}^{\nu'\sigma'} \frac{\partial \chi^{\sigma'}}{\partial \chi^{\alpha}} V^{\alpha}$$

$$= \frac{\partial \chi^{\beta}}{\partial \chi^{\nu'}} \frac{\partial \chi^{n'}}{\partial \chi^{\alpha}} \frac{\partial \chi^{n'}}{\partial \chi^{\beta}} V^{\alpha} + \frac{\partial \chi^{\beta}}{\partial \chi^{\alpha'}} \frac{\partial^{2} \chi^{n'}}{\partial \chi^{\alpha}} V^{\alpha} + \int_{\nu'\sigma'}^{\nu'\sigma'} \frac{\partial \chi^{\sigma'}}{\partial \chi^{\alpha'}} V^{\alpha}$$

$$\Rightarrow V^{\gamma} \frac{\partial \chi^{\alpha}}{\partial \chi^{\alpha'}} \frac{\partial \chi^{n'}}{\partial \chi^{\beta}} = \left( \frac{\partial \chi^{\beta}}{\partial \chi^{\nu'}} \frac{\partial^{2} \chi^{n'}}{\partial \chi^{\beta} \chi^{\gamma}} + \int_{\nu'\sigma'}^{\nu'\sigma'} \frac{\partial \chi^{\sigma'}}{\partial \chi^{\gamma'}} \right) V^{\gamma}$$

$$\Rightarrow \int_{\nu'\sigma'}^{\nu'n'} = \frac{\partial \chi^{\gamma}}{\partial \chi^{\sigma'}} \frac{\partial \chi^{\alpha'}}{\partial \chi^{\beta'}} \frac{\partial \chi^{\beta'}}{\partial \chi^{\beta'}} \int_{\alpha}^{\alpha} \int_{\alpha}^{\alpha} - \frac{\partial \chi^{\gamma}}{\partial \chi^{\gamma'}} \frac{\partial \chi^{\beta'}}{\partial \chi^{\gamma'}} \frac{\partial \chi^{\beta'}}{\partial \chi^{\beta'}} \chi^{\alpha'}$$

$$= \frac{\partial \chi^{\gamma}}{\partial \chi^{\beta'}} \frac{\partial \chi^{\alpha'}}{\partial \chi^{\beta'}} \int_{\alpha}^{\alpha} \int_{\alpha}^{\alpha} \int_{\alpha}^{\alpha} \frac{\partial \chi^{\beta'}}{\partial \chi^{\gamma'}} \frac{\partial \chi^{\gamma'}}{\partial \chi^{\gamma'}} \frac{\partial \chi^{\gamma'}}{\partial \chi^{\gamma'}} \frac{\partial \chi^{\gamma'}}{\partial \chi^{\gamma'}} \frac{\partial \chi^{\gamma'}}{\partial \chi'} \frac{\partial \chi^{\gamma'}}{\partial \chi^{\gamma'}} \frac{\partial \chi^{\gamma'}$$

tensor and proceeding as above we get:  

$$\nabla W = \nabla W_{\mu} dX^{\mu} = (\nabla W_{\mu}) \otimes dX^{\mu} + W_{\mu} \nabla dX^{\mu}$$

$$= \partial_{\mu} W_{\mu} dX^{\nu} \qquad clefine \quad \nabla_{\nu} dX^{\mu} = \int_{\sigma\nu}^{\sigma\mu} dx^{\sigma}$$

$$= \partial_{\nu} W_{\mu} dX^{\nu} \qquad clefine \quad \nabla_{\nu} dX^{\mu} = \int_{\sigma\nu}^{\sigma\mu} dx^{\sigma}$$

$$= \partial_{\nu} W_{\mu} dX^{\nu} \qquad clefine \quad \nabla_{\nu} dX^{\mu} = \int_{\sigma\nu}^{\sigma\mu} dx^{\sigma}$$

$$= \partial_{\nu} W_{\mu} dX^{\nu} \otimes dX^{\mu} + W_{\mu} \int_{\sigma\nu}^{\sigma\mu} dx^{\sigma} \otimes dx^{\nu}$$
Rename indices
$$= (\partial_{\nu} W_{\mu} + \int_{\nu}^{\sigma} W_{\sigma}) dX^{\nu} \otimes dx^{\mu}$$
The coefficients  $\int_{\sigma}^{\sigma} con be clebed to \Gamma$  using the conditions 2 and 3 above:  

$$\nabla_{\nu} (W_{\mu} V^{\mu}) = (\nabla_{\nu} W_{\mu}) V^{\mu} + W_{\mu} \nabla_{\nu} V^{\mu} = \partial_{\nu} (W_{\mu} V^{\mu})$$

$$\int_{\mu}^{\sigma} cond. 3 (w_{\mu} V^{\mu}) ix = scaler)$$

$$(\partial_{\nu} W_{\mu} + \int_{\mu}^{\sigma\sigma} W_{\sigma} V^{\mu} = O$$

$$= \int_{\nu}^{\sigma} W_{\mu} = -\int_{\nu}^{\sigma} W_{\mu} (\partial_{\nu} V^{\mu} + \int_{\nu}^{\sigma} W_{\sigma} V^{\mu} = O$$

$$= \int_{\nu}^{\sigma} W_{\mu} = -\int_{\nu}^{\sigma} W_{\mu} (\partial_{\nu} V^{\mu} + \int_{\nu}^{\sigma} W_{\sigma} V^{\mu} = O$$

Hence we get:  

$$\nabla \omega = (\partial_{\mu}\omega_{\nu} - \int_{\mu\nu}^{\lambda}\omega_{\lambda})dx^{\mu}\partial dx^{\nu}$$
 i.e.  $\nabla_{\mu}\omega_{\nu} = \partial_{\mu}\omega_{\nu} - \int_{\mu\nu}^{\lambda}\omega_{\lambda}$ 

Now we know how to compute covariant derivatives of vectors and deals. Using the conditions 1, 2, 3 we can compare the covariant derivative of an arbitrary rank tensor. The (components of) covariant derivative of (m,n) tensor T is given by

(56)

For reference, let us rewith separately the results for scalars, vectors and douls :

$$(3.2) \qquad \overline{\nabla}_{\mu} \varphi = \partial_{\mu} \varphi$$

$$(3.2) \qquad \overline{\nabla}_{\mu} V'' = \partial_{\mu} V'' + \int_{\mu} V^{\lambda} V^{\lambda}$$

$$\overline{\nabla}_{\mu} \omega_{\nu} = \partial_{\mu} \omega_{\nu} - \int_{\mu} \int_{\mu} d\lambda_{\lambda}$$

In flat spacetime we can find a coordinate system over the entire M where  $\Gamma_{us}^{m}=0$ . So the connection coefficients must somehow carry information about the curvature. But how to compute them and are the uniquely defined in the first place? The answer to the latter question is no.

The conditions 1-3 do not uniquely define the connection and hence the  
covariant derivative. Consider another set of connection coefficients 
$$\int_{P}^{P} V$$
  
which define another covariant derivative  $\hat{\nabla}$ :  
 $\hat{\nabla}_{P} V = \partial_{P} V' + \int_{P\lambda}^{P} V^{\lambda}$  (1.1) tentor  
 $\bar{\nabla}_{P} V' = \partial_{P} V' + \int_{P\lambda}^{P} V^{\lambda} - \partial_{P} V' \int_{P\lambda}^{P} V^{\lambda}$   
 $\bar{\nabla}_{P} V' = \hat{\nabla}_{P} V' = (\Gamma_{P\lambda} - \Gamma_{P\lambda}) V^{\lambda}$   
 $(1,1)$  tensor  
 $(1,1)$  tensor  
 $= \int_{P}^{P} V - \hat{\Gamma}_{P\lambda} = C_{P} V$  is a (1,2) tensor

The connection  $\int_{\mu\lambda}^{\nu}$  is not a knoor but the difference by two connections is a tensor. From any set of connection coefficients  $\int_{\mu\lambda}^{\nu}$  we get a new one by adding an arbitrary (1,2) tensor

We also get a new connection by switching the lower indices Pin = My.

The difference both right and right is a (1,2) tensor called the tersion knoor of the connection right

 $(3.3) \quad T_{\mu}^{\lambda} \equiv \int_{-\pi}^{\pi} \int_{-\pi}^{\pi}$ 

Christoffel connection

In general, the metric  $g_{\mu\nu}$  and the connection  $\Gamma_{\mu\nu}^{A}$  are independent degrees of freedom and, as the above discussion shows, the connection for a given spacetime is not uniquety defined (there are several possible choiches). We can however define a specific connection which is felly determined by the metric by imposing some extra conditions in addition to 1-3.

The conditions 
$$1-5$$
 define a unique connection, the Christoffel connection.  
The explicit form of the Christoffel connection can be found as follows. Write out  
the condition  $\nabla_{\lambda}g_{\mu\nu} = 0$  explicitly for different permutations and subtract:

+ 
$$\nabla_{\sigma} g_{\mu\nu} = \partial_{\sigma} g_{\mu\nu} - \int_{\sigma\mu} g_{\lambda\nu} - \int_{\sigma\nu} g_{\mu\lambda} = 0$$
  
-  $\nabla_{\mu} g_{\nu\sigma} = \partial_{\mu} g_{\nu\sigma} - \int_{\mu\nu} g_{\lambda\sigma} - \int_{\mu\sigma} g_{\nu\lambda} = 0$   
-  $\nabla_{\nu} g_{\mu\sigma} = \partial_{\nu} g_{\mu\sigma} - \int_{\nu\mu} g_{\lambda\sigma} - \int_{\nu\sigma} g_{\mu\lambda} = 0$   
 $\partial_{\sigma} g_{\mu\nu} - \partial_{\mu} g_{\nu\sigma} - \partial_{\nu} g_{\sigma\mu} + 2 \int_{\mu\nu} g_{\lambda\sigma} = 0$   $1 \cdot g^{\sigma}g$ 

$$(3.4) \qquad \boxed{\Gamma_{\mu\nu}^{s}} = \frac{1}{2}g^{s}(\partial_{\mu}g_{\nu\sigma} + \partial_{\nu}g_{\sigma\mu} - \partial_{\sigma}g_{\mu\nu}) \qquad Christoffel connection$$

In GR it tams out that even if we start from 
$$g_{\mu\nu}$$
 and  $\Gamma_{\mu\nu}^{s}$  as (38)  
independent degrees of freedom, the equations of motion set  $\Gamma_{\mu\nu}^{s}$  equal to (3.4).  
Therefore, in GR the connection is always the Christoffel connection. (Recall  
that GR is a classical theory, all physics is an -shell, i.e. obeys classical equ  
of notion.) In more general theories of gravity this is not true and  
we get different results if we vary  $g_{\mu\nu}$  and  $\Gamma_{\mu\nu}^{s}$  independently or set  $\Gamma_{\mu\nu}^{s}$   
equal to (3.4). This is something that you should keep in mind but in this  
cause we discuss GR only and hence the connection is given by (3.4).

It can be shown (exercise) that the connection coefficients (3.4) (also called Christofiel symbols) satisfy;

 $(3.5) \qquad \Gamma_{\mu\nu}^{\mu} = \frac{1}{\sqrt{-g}} \partial_{\nu} \left(\sqrt{-g}\right) \qquad \text{cecall } g \equiv \det(g_{\mu\nu})$ 

This yields :

$$\nabla_{\mu}V^{\mu} = \partial_{\mu}V^{\mu} + \int_{\mu} \partial_{\nu}V^{\nu}$$
$$= \partial_{\mu}V^{\mu} + \frac{1}{\sqrt{-g}}\partial_{\nu}(\sqrt{-g})V^{\nu}$$
$$= \sqrt{-g}$$

(3.6)  $\nabla_{\mu}V^{\mu} = \frac{1}{\sqrt{-g}} \partial_{\mu} \left( \sqrt{-g} V^{\mu} \right)$  which is sometimes a cycled relation.

In going from SR to GR we basically produce  $\partial_{\mu} \rightarrow \nabla_{\mu}$  in all non-gravitational expressions. The gravitational sector is the non-trivial part which we discuss later. This is just the strong equivalence principle in action. At any point P. we can go to the local Lorentz frame where physics is SR and  $\Gamma_{\mu\lambda}=0$  at P. So in these cods at P. we have  $\partial_{\mu} = \nabla_{\mu}$ . But eqs written in terms of  $\nabla_{\mu}$  are manifestly tensorial and can be directly rewritten in terms of any other cods. So in practice  $\partial_{\mu} \rightarrow \nabla_{\mu}$  and that's all.

In curved spacetime there is no a priori' unique way to compare tempors at different points, say V(P) and V(Q) where  $P \neq Q$ . This because they live in different known spaces  $T_P \neq T_Q$ . To compare the tensors, we need to define a curve which connects P and Q and can be used to may an object of  $T_Q$  to  $T_P$ . The outcome will depend on the chosen curve, or mapping.

The parallel transport of a vector gives us the concept of mapping a vector V(Q) to V(P) "without chansing its direction":



Let  $C(X) : \mathbb{R} \to M$  be a curve and  $U = U^{+}\partial_{\mu} = \frac{d_{X} t^{\mu} c(X)}{d_{X}} \frac{\partial}{\partial X^{\mu}}$  its

tangent vector.  $V(P) \in T_p(M)$  is a vector field defined over the entire M (or at least over points on the curve  $c(\lambda)$ ).

The parallel transport of  $V(d\lambda)$  along the curve  $c(\lambda)$  is defined as the solution of ;

The same definition applies for a general rank 
$$(m,n)$$
 tensor  $T$ :  
(3.8)  $U^{n}V_{n}T^{d,...d,m}_{\beta,...\beta_{n}} = 0$  soli gives the components of the parallel transport of  $T^{d,...d,m}_{\beta,...\beta_{n}}$ .

Using (3.2) the parallel transport equation (3.7) becomes:  

$$\frac{dx^{n}(\partial_{\mu}V^{\nu} + \Gamma_{\mu\lambda}V^{\lambda}) = 0$$
(3.9) 
$$\frac{dV^{\nu}}{d\lambda} + \frac{\Gamma_{\mu\lambda}V^{\lambda}dx^{n}}{d\lambda} = 0$$
(aiven the vector V<sup>n</sup> at a point  $c(\lambda_{0})$  the solution of (3.9) gives the parallel transport at any other point on the curve.

Note that because of the metric compatibility of gov = o we get:

The parallel transport of the metric is just the metric itself. From this it follows that:

$$\begin{aligned} u^{\mu} \mathcal{P}_{\mu} \left( \mathcal{V}_{\nu} \mathcal{W}^{\nu} \right) &= \mathcal{U}^{\mu} \mathcal{P}_{\mu} \left( \mathcal{g}_{\sigma \nu} \mathcal{V}^{\sigma} \mathcal{W}^{\nu} \right) \\ &= \mathcal{g}_{\sigma \nu} \left( u^{\mu} \mathcal{P}_{\mu} \left( \mathcal{V}^{\sigma} \mathcal{W}^{\nu} \right) \right) \\ &= \mathcal{V}_{\nu} \left( u^{\mu} \mathcal{P}_{\mu} \mathcal{W}^{\nu} \right) + \mathcal{W}_{\nu} \left( u^{\mu} \mathcal{P}_{\mu} \mathcal{V}^{\nu} \right) \end{aligned}$$

Therefore, if WM and VM are parellel transported, their inner product remains unchanged under paralle transport:

Geodesics are special curves which parallel transport their own tangent vector. The geodesics are the generalisation of straight lines of Euclidean space to curved spacetimes.

The defining condition of geodesics curves  $C(\lambda)$  are that the tangent vector  $\mu = \frac{dx^{\mu}}{d\lambda} \frac{\partial}{\partial \mu}$  is parallel transported along  $C(\lambda)$ : (8.10)  $\mu^{\mu}\nabla_{\mu}\mu^{\nu} = 0$  beodesic equation

Writing this out in explicit form we get:

$$\frac{dx^{n}}{d\lambda} \left( \frac{\partial_{\mu}u^{\nu} + \int_{\mu}^{\mu}u^{\lambda} \right) = 0$$

$$\frac{dx^{n}}{d\lambda} \left( \frac{dx^{\nu}}{d\lambda} \right) + \int_{\mu\lambda}^{\mu}u^{n}u^{\lambda} = 0$$

$$= \frac{d}{d\lambda}$$

$$(3.11) \qquad \frac{d^{2}x^{n}}{d\lambda^{2}} + \int_{\sigma_{v}}^{\sigma_{p}} \frac{dx^{\sigma}}{d\lambda} \frac{dx^{\sigma}}{d\lambda} = 0 \qquad \text{solutions } x^{n}(\lambda) \text{ are geodesics}$$

Consider the Minkowski' limit  $\int_{\sigma v}^{\gamma h} = 0$ , in this case the geodesic eq. 3.11) (claces to:  $\frac{d^{2} \chi^{h}}{d \chi^{2}} = 0 \implies \chi^{+}(\lambda) = c^{h} \lambda + d^{h}$ in flat space geodesics = straight lines.

In the flat space, straight lines minimise the distance between two points P and Q. The geodesics maximise the proper time (for timelike curves direco), Consider the proper time between two spacetime points along timelike curves



Vary  $\chi^{m}(\lambda) \rightarrow \chi^{m}(\lambda) + \delta \chi^{m}(\lambda)$  with fixed endpoint  $\chi^{m}(\lambda_{1}) = \chi^{m}_{2}, \chi^{m}(\lambda_{1}) = \chi^{m}_{2}$ .

The variation of 
$$T_{12}$$
 is given by:  

$$\lambda_{2}$$

$$\delta T_{12} = \int d\lambda \frac{1}{2} \left( -g_{\mu\nu} \frac{dx^{\mu} dx^{\nu}}{d\lambda dx} \right)^{-k_{1}} \left( -\delta g_{\mu\nu} \frac{dx^{\mu} dx^{\nu}}{d\lambda d\lambda} - g_{\mu\nu} \frac{d\delta x^{\mu} dx^{\nu}}{d\lambda d\lambda} - g_{\mu\nu} \frac{ds^{\nu} d\delta x^{\nu}}{d\lambda d\lambda} \right)$$

$$= \frac{dr^{2}}{d\lambda^{2}}$$

$$\lambda_{1}$$

$$= \int \frac{1}{2} \frac{d\lambda}{d\lambda} \frac{d\lambda}{d\lambda} \left( -\delta g_{\mu\nu} \frac{dx^{\mu} dx^{\nu}}{d\lambda d\lambda} - g_{\mu\nu} \frac{d\delta x^{\mu} d\delta x^{\nu}}{d\lambda d\lambda} - g_{\mu\nu} \frac{dx^{\mu} d\delta x^{\nu}}{d\lambda d\lambda} \right)$$

$$= dr \frac{d\lambda}{dr^{2}} = \left( \partial_{\sigma} g_{\mu\nu} \right) \delta x^{\sigma}$$

$$\lambda_{1}$$

$$= \int \frac{dT}{2} \left( -\partial_{\sigma} g_{\mu\nu} \frac{dx^{\mu} dx^{\nu} \delta x^{\sigma}}{d\tau d\tau} - 2 g_{\mu\nu} \frac{dx^{\nu} d\delta x^{\mu}}{d\tau} \right)$$

$$= \frac{dr}{d\tau} \frac{dx^{\nu} dx^{\nu}}{d\tau} \delta x^{\sigma} - 2 g_{\mu\nu} \frac{dx^{\nu} d\delta x^{\mu}}{d\tau} \right)$$

$$= \frac{dr}{d\tau} \frac{dx^{\nu} dx^{\nu}}{d\tau} \delta x^{\sigma} - 2 g_{\mu\nu} \frac{dx^{\nu} d\delta x^{\mu}}{d\tau} \right)$$

$$= \frac{dr}{d\tau} \frac{dx^{\nu} \delta x^{\mu}}{d\tau} - \frac{dg_{\mu\nu} dx^{\nu} \delta x^{\mu}}{d\tau} - g_{\mu\nu} \frac{d^{2} x^{\nu} \delta x^{\mu}}{d\tau}$$

Denote 
$$\frac{dx^{h}}{d\tau} = \dot{x}^{h}$$
  

$$= (\partial_{\sigma} g_{yp} + \partial_{\nu} g_{p\sigma} - \partial_{\mu} g_{\sigma\nu}) \dot{x}^{\nu} \dot{x}^{\sigma} \delta x^{h} \quad \text{just remove sum indices}$$

$$\lambda_{\perp}$$

$$= \int \frac{dr}{2} \left( 2g_{\mu\nu} \ddot{x}^{\nu} \delta x^{h} + 2\partial_{\sigma} g_{\mu\nu} \dot{x}^{\nu} \dot{x}^{\sigma} \delta x^{h} - \partial_{\sigma} g_{\mu\nu} \dot{x}^{h} \dot{x}^{\nu} \delta x^{\sigma} \right)$$

$$- \int dr \frac{dr}{d\tau} \left( g_{\mu\nu} \frac{dx^{\nu}}{d\tau} \delta x^{h} \right)$$

$$\lambda_{\perp}$$

(2)

$$\delta \mathcal{T}_{12} = \int d\mathcal{P} \left( g_{\mu\nu} \ddot{x}^{\nu} + \frac{1}{2} \left( \partial_{\sigma} g_{\nu\mu} + \partial_{\nu} g_{\mu\sigma} - \partial_{\mu} g_{\sigma\nu} \right) \dot{x}^{\nu} \dot{x}^{\sigma} \right) \delta x^{\mu} \quad (*)$$

Extremals:  

$$\lambda_{L}$$

$$\delta T_{L} = \int dP \left( g_{\mu\nu} \ddot{x}^{\nu} + \frac{1}{2} \left( \partial \sigma g_{\nu\mu} + \partial \nu g_{\mu\sigma} - \partial \rho g_{\sigma\nu} \right) \dot{x}^{\nu} \dot{x}^{\sigma} \right) \delta x^{\mu} = 0 \quad \forall \delta x^{\mu}$$

$$\Rightarrow \qquad g_{\mu\nu} \ddot{x}^{\nu} + \frac{1}{2} \left( \partial \sigma g_{\nu\mu} + \partial \nu g_{\mu\sigma} - \partial \rho g_{\sigma\nu} \right) \dot{x}^{\nu} \dot{x}^{\sigma} = 0 \quad l \cdot g^{\lambda\mu}$$

$$\overset{\tilde{x}^{\lambda}}{x} + \frac{1}{2} g^{\lambda\mu} \left( \partial \sigma g_{\nu\mu} + \partial \nu g_{\mu\sigma} - \partial \rho g_{\sigma\nu} \right) \dot{x}^{\sigma} \dot{x}^{\nu} = 0$$

$$= \int_{\sigma\nu}^{\tau\lambda} Christoffel connection (3.4)$$
So we found that

 $\delta T_{12} = 0 \implies \ddot{X}^{\mu} + \int_{\sigma\nu}^{\sigma} \dot{X}^{\sigma} \dot{X}^{\nu} = 0$  This is just the geodesic equation (3.11) Therefore, we see that timelike geodesics connecting two points extremise the proper time between the points. The extrema are actually maxima so the geodesics maximise the proper time bow. different points.

Note that above in step (\*) the integrand can can be written as  

$$\begin{pmatrix} g_{\mu\nu} \ddot{x}^{\nu} + \frac{1}{2} \begin{pmatrix} \partial \sigma g_{\nu\mu} + \partial \nu g_{\mu\sigma} - \partial \rho g_{\sigma\nu} \end{pmatrix} \dot{x}^{\nu} \dot{x}^{\sigma} \end{pmatrix} \delta x^{\mu} = \begin{pmatrix} \frac{d}{\partial \mathcal{L}} & \frac{\partial \mathcal{L}}{\partial \dot{x}^{\mu}} \end{pmatrix} - \frac{\partial \mathcal{L}}{\partial x^{\mu}} \end{pmatrix} \delta x^{\mu}$$
where  $\mathcal{L} = \frac{1}{2} g_{\mu\nu} \dot{x}^{\nu} \ddot{x}^{\nu}$ 

Check:  $\frac{\left(\frac{d}{\partial x^{\prime}}\right)}{\left(\frac{\partial x^{\prime}}{\partial x^{\prime}}\right)} - \frac{\partial d}{\partial x^{\prime}}\right)^{\delta \times ^{\prime}} = \left(\left(g_{\mu\nu} \dot{x}^{\prime}\right)^{2} - \frac{1}{2}\right)_{2} g_{dS} \dot{x}^{dX} \dot{x}^{B}\right) \delta \times ^{\prime}$   $= \left(g_{\mu\nu} \ddot{x}^{\prime} + \dot{x}^{\prime} \frac{dx^{\sigma}}{dr^{\sigma}} \partial_{\sigma} g_{\mu\nu} - \frac{1}{2} \dot{x}^{dX} \dot{x}^{B} \partial_{\sigma} g_{dS}\right) \delta \times ^{\prime}$   $= \left(g_{\mu\nu} \ddot{x}^{\prime} + \frac{1}{2}\left(\partial_{\sigma} g_{\mu\nu} \dot{x}^{\prime} \dot{x}^{\sigma} + \partial_{\nu} g_{\mu\sigma} \dot{x}^{\prime} \dot{x}^{\sigma} - \partial_{\sigma} g_{\sigma\nu} \dot{x}^{\sigma} \dot{x}^{\prime}\right) \delta \times$ OK

Therefore, we find that extremising the action:  

$$\begin{aligned}
S &= \int dT \, \mathcal{L}(X, \dot{X}) &= \int dT \, \frac{1}{2} g_{\mu\nu} \dot{X}^{\mu} \dot{X}^{\nu} \\
yields the geodesic equations: \\
&\frac{\delta S}{\delta X^{\mu}} = 0 \iff \end{aligned}$$

 $\begin{pmatrix} 3,12 \end{pmatrix} \frac{d}{dr} \begin{pmatrix} \frac{\partial d}{\partial \dot{x}r} \end{pmatrix} - \frac{\partial l}{\partial x^{r}} = 0 \iff \ddot{x}^{\mu} + \int_{xb}^{x} \dot{x}^{\lambda} \ddot{x}^{\beta} = 0 \qquad d = \frac{1}{2} g_{\mu\nu} \dot{x}^{\mu} \dot{x}^{\nu}$ 

This gives an alternative way to compare the Christoffel connection for a given metric. Variation of  $\mathcal{L} = \frac{1}{2} g_{\mu\nu} \dot{x}^{\mu} \dot{x}^{\nu}$  gives the Euler-Lasranse equations which according to (8.12) are the geodesic eqs. for the metric  $g_{\mu\nu}$ . The connection coefficients can then be read off from these. Using (8.12) is often an easier way to get  $\Gamma_{d,8}^{\mu}$  then the definition (8.4). On the other hand, (8.4) can be readily implemented on computer.

Example:

Could use (3,4) but we will here demonstrate using (3,12).

$$\frac{\partial \mathcal{L}}{\partial t} = \mathcal{A}(t) \frac{\partial \mathcal{A}}{\partial t} \left( \ddot{x}^{2} + \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \ddot{x}^{2} + \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right) = \mathcal{A}\mathcal{A}' \left( \dot{x} \dot{x} \dot{x} \dot{y}^{2} + \dot{z}^{2} \right)$$

$$\frac{i - components:}{\frac{\partial k}{\partial x^{i}}} = a^{2} \dot{x}^{i} \delta_{ij} \qquad E \cdot L : \frac{d}{d\tau} \left( \frac{\partial L}{\partial \dot{x}^{i}} \right) = 0$$

$$\frac{d}{\partial x^{i}} = 0 \qquad a^{2} \ddot{x}^{i} \delta_{ij} + \frac{d}{d\tau} \stackrel{i}{\partial t} \delta_{ij} = 0 \qquad A^{2} \ddot{x}^{i} \delta_{ij} + \frac{d}{d\alpha^{2}} \dot{x}^{i} \delta_{ij} = 0 \qquad I \cdot \delta^{ik}$$

$$\frac{d}{dx} \dot{x}^{i} \delta_{ij} + \frac{d}{d\alpha^{2}} \dot{x}^{i} \dot{x}^{k} = 0$$

$$x^{k} + \int \frac{d}{dx} \dot{x}^{k} \dot{x}^{k} = 0$$

$$x^{k} + \int \frac{d}{dx} \dot{x}^{k} \dot{x}^{k} = 0$$

$$x^{k} + \int \frac{d}{dx} \dot{x}^{k} \dot{x}^{k} = 0$$

$$x^{k} - \int \frac{d}{dx} \dot{x}^{i} \dot{x}^{k} = 0$$

**(5**)

Consider an action  $S[\Phi(t)] = \int dt dl (\Phi(t), \phi(t))$   $f_{t}$  S is a functional = function of the function  $\phi(t)$ Vary the form of  $\phi(t)$  keeping the endpoints fixed:  $\phi(t) \rightarrow \phi(t) + \delta \phi(t)$   $S\phi(t_{t}) = \delta \phi(t_{t}) = 0$ Linearize everything in the small variation  $\delta \phi(t)$ :

$$\delta S = S \left[ \phi(t) + \delta \phi(t) \right] - S \left[ \phi(t) \right] = \int dt \left( \frac{d}{d} \left( \phi + \delta \phi, \left( \phi + \delta \phi \right)^{2} \right) - \frac{d}{d} \left( \phi, \phi \right) \right) \\ = \frac{d}{d} \left( \phi, \phi \right) + \frac{d}{d} \frac{d}{d} \phi + \frac{d}{d} \frac{d}{d} \frac{d}{d} \phi + \frac{d}{d} \frac{d}{d} \frac{d}{d} \phi + \frac{d}{d} \frac{d}{d} \frac{d}{d} \frac{d}{d} \phi + \frac{d}{d} \frac$$

Hence, requiring that  $\delta S = 0$   $\forall \delta \phi$  we get the Euler - Lagrange equations:  $\delta S = 0$   $\forall \delta \phi \implies \frac{\partial L}{\partial \phi} - \frac{d}{dt} \left( \frac{\partial L}{\partial \phi} \right) = 0$ 

This can be compared to the differential of a function  $df(x) = \frac{\partial f}{\partial x} dx$ . Indeed for a functional  $S[\mathcal{A}(x)]$  we can define the functional derivative which acts like an ordinary partial derivative except that:

$$\frac{\delta \phi(t)}{\delta \phi(t')} = \delta(t-t'), \quad \text{compare to a discrete set of variables} \quad \{ \psi_i \}_{i=1}^n : \frac{\partial \psi_i}{\partial \psi_j} = \delta_{ij}$$

$$\frac{\delta S[\phi]}{\delta \phi(t)} = \frac{\delta}{\delta \phi(t)} \int dt' \mathcal{L}(\phi(t'), \phi(t'))$$

65.1

In SR objects which feel no force have constant 4-velocity; a<sup>m</sup>= u dy u<sup>m</sup>=0 u<sup>m</sup>= dx<sup>m</sup> ar

Consider a freely falling abject (fails only growity, no other forces) in G.R. The rest frame of the object coincides with the local Lorente frame. Physics looks like SR locally and we can write:

The latter form is a tensorial equation and therefore fixely falling objects in any frame objects: (3.13)  $a^{t} = u^{v} \nabla_{v} u^{m} = 0$  ( $a^{r} = 0 \rightarrow gravity not a force$ ) This is just the geodesic equation

$$a^{\mu} = \mathcal{U}^{\nu} \mathcal{V}_{\nu} \mathcal{U}^{\mu} = \frac{dx}{d\tau} \partial_{\nu} \mathcal{U}^{\mu} + \mathcal{U}^{\nu} \mathcal{V}_{\nu}^{\mu} \mathcal{U}^{\nu} = \frac{dx}{d\tau} + \mathcal{V}^{\nu} \frac{dx}{d\tau} \frac{dx}{d\tau} = 0$$

$$\Rightarrow free particles row along geodesics!$$

Example Comoving observers  $x^{i}$ -const. in the RW space:  $ds^{L} = -dt^{L} + a^{2}(t) \delta_{ij} dx^{i} dx^{j}$ From page 65, the geodesic eqs. for this metric read:  $\ddot{x}^{o} + aa^{1}\delta_{ij}\dot{x}^{i}\dot{x}^{j} = 0$   $\ddot{x}^{i} + 2a^{1}\dot{x}^{o}\dot{x}^{i} = 0$   $a^{2} dx^{i} + 2a^{1}\dot{x}^{o}\dot{x}^{i} = 0$   $denty x^{i} = const$ ,  $X^{o} = C_{i}t + C_{L}$  are colutions and hence geodesics.  $\Rightarrow$  test penticles more along  $x^{i} = const$  trajectorics.

67

Using that 
$$p^{r} = m(a^{r})$$
, the geodesic equation (3.13) can be rewritten as:  
(3.14)  $p^{r} \nabla_{\nu} p^{r} = 0$ .

This form holds also for massless lest particles m = c for which  $p^{T}p_{T} = c$ . Massless lest particles more along null geodesics.

The choice of curve percenter  $\lambda$  of a geodesic  $x^{\mu}(\lambda)$  is not unique. We are free to make representations  $\overline{\lambda} = a \lambda + b$ , where  $a_1b$  are constants:

$$\frac{d_{X}}{d_{X}} + \int_{AB}^{A} \frac{dx}{dx} \frac{dx^{h}}{dx} = \frac{1}{a^{2}} \left( \frac{d_{X}}{dx} + \int_{AB}^{A} \frac{dx}{dx} \frac{dx^{h}}{dx} \right) = 0$$
  
=)  $\chi^{h}(\tilde{\lambda})$  is a geodesic teo.

For massless particles we usually choose & s.t.

$$\frac{dx^{h}}{d\lambda} = p^{h} \leftarrow photon \ 4 - momentum$$
  
For massive particles we can choose  $\lambda = \frac{T}{m} : \frac{dx^{h}}{d\lambda} = Mh^{h} = p^{h}$ 

Example  
Photons in an expanding universe 
$$ds' = -dt' + a't) \delta_{ij} dx'dx'$$
.  
Photons move along null geodesics for which  $ds' = 0$  so we have  
the equations:  
(#)  $\begin{cases} \ddot{t} + aa' \delta_{ij} \dot{x}' \dot{x}' = 0 \\ \ddot{x}' + 2a' \dot{t} \dot{x}' = 0 \end{cases}$  geodesic eqs. from previous examples  
 $-\dot{t}^2 + a^2 \delta_{ij} \dot{x}' \dot{x}' = 0$  null condition  $ds' = 0$ 

In general not all deletions of 
$$ds^{1}=0$$
 are geodenics.  
(consider e.g. circular path on  $x-y$  plane  
 $x = \cos \omega(t)$   $\delta_{ij} \dot{x}^{i} \dot{x}^{j} = \omega^{1/2} \dot{f}^{2} (\cos^{1} \omega + \sin^{1} \omega) = \omega^{1/2} \dot{f}^{1}$   
 $y = \sin \omega(t)$   $-\dot{f}^{1} + a'(t) \omega^{1/2} = 0 \Rightarrow ds^{1} = 0$  if  $\omega'(t)^{1} = \frac{1}{a'(t)}$   
But  $\ddot{x}^{i} + \frac{1}{a'} \dot{f} \dot{x}^{i} = 0$  yields  $\frac{1}{x^{i}} \frac{d\dot{x}^{i}}{d\lambda} = -\frac{1}{a} \frac{dt}{d\lambda} = -\frac{1}{a'(t)}$   
 $\frac{dtn \dot{x}^{i}}{d\lambda} = -\frac{1}{a'(t)} \frac{dtn \dot{x}^{i}}{d\lambda} = -\frac{1}{a'(t)}$   
Now  $\dot{x} = -\omega^{1} f \sin \omega(t) = \frac{c_{1}}{a'(t)}$   $1 \omega' = \frac{1}{a}$   
 $\dot{x}^{i} = \frac{c_{1}}{a'(t)}$   
 $\dot{y} = \omega^{1/2} \cos \omega(t) = \frac{c_{1}}{c_{1}} \Rightarrow \dot{f}^{i} = \frac{c_{2}}{a \cos \omega(t)} = \frac{c_{1}}{a \sin \omega(t)}$   
Hence  $x = \cos \omega(t)$  are NOT geodenics?

However, often it is clear from symmetrics which solutions of  $ds^{\perp}=0$ are geodesics. In precise it is usually easiest to solve  $ds^{\perp}=0$  (under some assumptions) first and then check that the solution indeed satisfies the geodesic equ. In our case the symmetrics suggest that geodesics should be straight lines in the dd subspace (X,Y,Z) which at any fixed t has a Euclidean geometry. Rotak coordinaks such that the motion is along X-axis. Eqs. (\*) become: (1)  $\tilde{t} + aa^{t}x^{t^{2}} = 0$ (2)  $\tilde{x} + aa^{t}x^{t^{2}} = 0$ 

Solve (3), i.e. 
$$ds_{z0}^{2}$$
, to get:  
(4)  $\frac{dx}{d\lambda} = t \frac{1}{a} \frac{dt}{d\lambda}$  (consider motion to  $t \times t \times direction$ )  
Plug (4) into (1):  
 $f + \frac{aa'}{a\lambda} + \frac{1}{2} = 0$   
 $\frac{d\ln t}{d\lambda} = -\frac{d\ln a}{d\lambda}$   
(5)  $f = \frac{ab}{a(t)}$ ,  $\omega_{0} = const$ .  
Check these (4), (5) schirly (2):  $\ddot{x} + \frac{ba'}{a}\dot{x} + \frac{(t)}{a} + \frac{ba'}{a}\frac{t}{a}^{2}$   
 $= \frac{ab}{(at)} + \frac{ba'}{at}\frac{ab}{a^{2}}$ ,  $\dot{a} = a't$ 

Null geodetics given by  $\begin{cases}
\frac{dx}{dx} = \frac{\omega_{o}}{a^{t+1}} & \text{these can be integrated to get } f(\lambda), x(\lambda) \text{ once} \\
& we know a(t). \\
\frac{dt}{d\lambda} = \frac{\omega_{o}}{a(t+1)}
\end{cases}$ Photon 4 -momentum given by:  $p^{t+1} = \frac{dx^{t+1}}{d\lambda} = \left(\frac{\omega_{o}}{a}, \frac{\omega_{o}}{a^{t+1}}, 0, 0\right) \quad p^{t+1}p_{p} = 0$   $\int_{d\lambda} \int_{d\lambda} \int_{d\lambda}$ 

Eobs = - Uppt = - gruh p

Now that we know this is the observed energy, we can compare it in any coordinate system.

Choose the comoving coordinates where 
$$d_{1}^{\perp} = -dt^{\perp} + a^{\perp} \delta_{ij} dx_{i} dx_{i}^{\perp}$$
 and  
Assume for simplicity that our observer is at rest in the comoving frame:  
 $u^{+} = \frac{dx}{dx}^{+} = (u^{\circ}, 0, 0, 0)$   $u^{+}u_{\mu} = g_{\mu\nu}u^{+}u^{\nu} = g_{00}u^{\circ}u^{-1} = -1$   
 $u^{\circ} = \sqrt{-\frac{1}{1}}$   
 $u^{\circ} = \sqrt{-\frac{1}{1}}$   
 $u^{\circ} = \sqrt{-\frac{1}{1}}$   
 $ten g_{00} = -1 = u^{\circ} = 1$   
 $E_{obs} = -g_{00}u^{\circ}p^{\circ} = p^{\circ} = \frac{w_{0}}{a}$   
The comoving observer (i.e. freely falling observer) measures photon energy  
 $F = \frac{w_{0}}{a(t)}$  cosmological redshift  
Correspondingly, the measured wavelength is  
 $\lambda = \frac{2T}{a} = \frac{2T}{a(t)}$   
 $x_{0} = \frac{2T}{a}$  stretching due to expansion of space

3.4 Riemann curvature tensor

We have now enough machinery to determine a tensorial, i.e. coordinate invoriant, way to measure curvature = deviation from flat geometry.

- In a flat spacetime we have the following properties: 1. Parallel transport around a closed loop is an iclambity:
  - 2. Covariant derivatives commute:

3. Parallel geodesics remain parallel.



$$\frac{-a}{b} \qquad Parallel + range ort equation for a vector V' around the loop:
$$\frac{dV^{h}}{d\lambda} + \int_{VO}^{Ph} V' \frac{dx^{\sigma}}{d\lambda} = 0$$

$$\frac{dV^{h}}{d\lambda} + \int_{VO}^{Ph} V' \frac{dx^{\sigma}}{d\lambda} = 0$$

$$Linear in V^{h} and a^{h}, b^{h}:$$

$$\delta V^{g} \equiv V^{g}(\lambda=1) - V^{g}(\lambda=0) \equiv R^{g} \sigma_{\mu\nu} V \sigma_{a}^{\mu} b^{\nu}$$

$$\sum_{\lambda=0}^{N=1} \int_{V}^{N=1} \int_{V}^{$$$$

(Ŧ)

2. Now PARV + PUPyVo, Consider the commutator:

$$\begin{bmatrix} \nabla_{\mu}, \nabla_{\nu} \end{bmatrix} V^{\sigma} = \nabla_{\mu} \nabla_{\nu} V^{\sigma} - \nabla_{\nu} \nabla_{\mu} V^{\sigma}$$

$$= \partial_{\mu} \nabla_{\nu} V^{\sigma} + \int_{\mu\lambda} \nabla_{\nu} V^{\lambda} - \int_{\mu\nu} \nabla_{\lambda} V^{\sigma} - (\mu c_{\sigma} v)$$

$$= \partial_{\mu} \partial_{\nu} \nabla^{\sigma} + \partial_{\mu} (\int_{\nu\lambda} V^{\lambda}) + \int_{\mu\lambda} (\partial_{\nu} V^{\lambda} + \int_{\mu\lambda} V^{\sigma}) - \int_{\mu\nu} (\partial_{\lambda} V^{\sigma} + \int_{\lambda\alpha} V^{\sigma})$$

$$- \partial_{\nu} \int_{\nu} \nabla^{\sigma} - \partial_{\nu} (\int_{\mu\lambda} V^{\lambda}) - \int_{\nu\lambda} (\partial_{\mu} V^{\lambda} + \int_{\mu\lambda} V^{\lambda}) + \int_{\mu\lambda} (\partial_{\lambda} V^{\sigma} + \int_{\lambda\alpha} V^{\sigma})$$

$$= \partial_{\mu} \int_{\nu\lambda} V^{\lambda} + \int_{\mu\lambda} \partial_{\nu} V^{\lambda} + \int_{\mu\lambda} \partial_{\nu} V^{\lambda} + \int_{\nu\lambda} \int_{\mu\lambda} V^{\lambda} d$$

$$- \partial_{\nu} \int_{\mu\lambda} V^{\lambda} - \int_{\mu\lambda} \partial_{\nu} V^{\lambda} - \int_{\nu\lambda} \partial_{\mu} V^{\lambda} - \int_{\nu\lambda} \int_{\mu\lambda} \int_{\mu\lambda} V^{\lambda} d$$

$$= (\partial_{\mu} \int_{\nu\lambda} - \int_{\mu\lambda} \int_{\nu\lambda} \nabla_{\lambda} - \partial_{\nu} \int_{\mu\lambda} \int_{\mu\lambda} \int_{\mu\lambda} \int_{\mu\lambda} \int_{\mu\lambda} V^{\lambda} d$$

$$= \sum_{\mu} \int_{\mu\nu} V^{\lambda} \int_{\lambda} \int_{\mu\lambda} \int_{\mu\lambda$$

We defined: 
$$\begin{bmatrix} \nabla_{\mu}, \nabla_{\nu} \end{bmatrix} V^{\sigma} = R \int_{\mu \nu} V^{\lambda}$$
  
(1, 2) tensor (1, 2) tensor

Hence,  $R_{\mu\nu\lambda}^{\sigma}$  is a (1,3) tensor. It is called the Riemann tensor and its components can be read off from above:

$$(3.15) \qquad R^{\sigma}_{\lambda \mu} = \partial_{\mu} \int_{\lambda}^{\sigma} \int_{\lambda}$$

This goes also in the other direction: R Jul = ) ] and's where goes acoust type (Exercise)

Therefore, we get the important result:  $R_{\mu\nu\lambda}^{\sigma} = 0 \iff \text{spacetime is flat}$ The Rieman

The Riemann knor monsures deviations from flat spacetime.

(72)

Liven the metric in any colds we can now immediately compare the Christoffels using (3.4) and components of the Riemann tensor using (3.15). If any of the components  $\mathcal{L}^{5}_{\mu\nu\lambda} \neq 0$  the spacetime is curved.

Symmetries of the Riemann know

In a 4-d space the Riemann tensor  $R_{\mu\nu\lambda}^{\sigma}$  has  $4^{4} = 256$  components. Not all of them are independent, however, since the Riemann tensor has several symmetries.

- From the very definition  $[V_{\mu}, V_{\nu}]V^{\sigma} = R^{\sigma}_{\lambda\mu\nu}V^{\lambda}$  and from (3.15) we see that  $R^{\sigma}_{\lambda\mu\nu} = -R^{\sigma}_{\lambda\nu\mu}$  and symmetric under exchange of last two indices
- There are also other symmetrics which are not immediatly transporent. These can be seen e.g. by going to the local inertial frame (symmetry or antisymmetry of a tensor with indices is a cod invasiant thing).

$$\begin{split} \left| R_{\delta \hat{\lambda} \hat{\mu} \hat{\nu}} \right| &= g_{\delta \hat{\lambda}} \left| R_{\delta \hat{\lambda} \hat{\mu} \hat{\nu}} \right| \\ P_{\delta \hat{\lambda}} &= g_{\delta \hat{\lambda}} \left( \partial_{\mu} f^{-2} \hat{\lambda} - \partial_{\nu} f^{-2} \hat{\lambda} \right) \Big| \\ P_{\delta \hat{\lambda}} \\ &= \frac{1}{2} g_{\delta \hat{\lambda}} \partial_{\mu} \left( g^{-2 \hat{h}} \left( \partial_{\nu} g_{\hat{\lambda} \hat{h}} + \partial_{\hat{\lambda}} g_{\hat{\mu} \hat{\nu}} - \partial_{\mu} g_{\hat{\lambda} \hat{\nu}} \right) - (\hat{\mu} e_{\hat{\nu} \hat{\nu}}) \right) \Big| \\ P_{\delta \hat{\lambda}} \\ &= \frac{1}{2} g_{\delta \hat{\lambda}} g_{\hat{\lambda} \hat{\lambda}} \int_{\hat{\mu}} \left( \partial_{\mu} \partial_{\nu} g_{\hat{\lambda} \hat{h}} + \partial_{\mu} \partial_{\hat{\lambda}} g_{\hat{\mu} \hat{\nu}} - \partial_{\mu} \partial_{\mu} g_{\hat{\lambda} \hat{\nu}} - (\hat{\mu} e_{\hat{\nu} \hat{\nu}}) \right) \Big| \\ &= \frac{1}{2} g_{\delta \hat{\lambda}} g_{\hat{\mu} \hat{\nu}} - \partial_{\mu} \partial_{\mu} g_{\hat{\mu} \hat{\nu}} - \partial_{\mu} \partial_{\mu} g_{\hat{\mu} \hat{\nu}} - \partial_{\mu} \partial_{\mu} g_{\hat{\mu} \hat{\nu}} - (\hat{\mu} e_{\hat{\nu} \hat{\nu}})) \Big| \\ &= \frac{1}{2} \left( \partial_{\mu} \partial_{\hat{\lambda}} g_{\hat{\mu} \hat{\nu}} - \partial_{\mu} \partial_{\mu} g_{\hat{\mu} \hat{\nu}} - \partial_{\mu} \partial_{\mu} g_{\hat{\mu} \hat{\mu}} + \partial_{\mu} \partial_{\mu} g_{\hat{\mu} \hat{\mu$$

While this result holds only at Po where  $g_{\mu\nu}(P_{o}) = \eta_{\mu\nu}c$ ,  $\partial_{\mu}g_{\mu\nu}(P_{o}) = 0$ , the symmetries of the result hold for any PEM and in any frame.

We thus find that the Riemann kensor has the following symmetries:

(74)

$$(3.16) \begin{pmatrix} R_{\sigma,\lambda\mu\nu} = -R_{\sigma,\lambda\nu\mu} \\ R_{\sigma,\lambda\mu\nu} = -R_{\lambda\sigma\mu\nu} \\ R_{\sigma,\lambda\mu\nu} = R_{\lambda\sigma\mu\nu} \\ R_{\sigma,\lambda\mu\nu} = R_{\mu\nu\sigma\lambda} \\ = 226 366 - 362 6360 - 3626 366 - 3626 - 3626 366 - 3626 366 - 3626 366 - 3626 366 - 3626 366 - 3626 - 3626 366 - 3626 366 - 3626 - 3626 366 - 3626 - 3626 366 - 3626$$

How many degrees of freedom are left among the 4th = 256 components?

 $\begin{array}{rcl} Rodynu &= Rodynu \\ number of lof's as for a symm. under pulse or the same \\ number of clof's as for a symm. \\ \frac{4\times4-4}{2} = 6 \ dof & \frac{4\times4-4}{2} = 6 \ dof & 6\times6 \ matrix : \\ \frac{6.6-6}{1^2} + 6 &= 21 \\ \frac{6.6-6}{1^2} + 6 &= 21 \\ \frac{1}{1^2} & \frac{1}{1^2} \ diagonals \\ \frac{1}{1^2}$ 

There is one more symmetry that follows from the expression of  $R_{ab}^{abc}(P_{a})$  above: (3.17) Rodyw + Roywh + Rowyn = O cyclic permetation of last 8 indices This leaves allogether 21-1 = 20 independent components in  $R_{dyw}^{T}$ . These are precisely the 20 second derivatives diddiging which we call not set to zero in going to the local Lorentz frame. The Riemann curvature tensor is a tensorial guandidy that contain these 20 dof's which measure deviction from a flat spacetime.

The Bianchi' identity is a derivative constraint equation identically satisfied by the Riemann tensor.

Since we can do this for any point PGM, we find the tensorial Bianchi identity:

(3,18) Val & you + Vyol & sut + Vul & say = O cyclic permutation over the 1 st and last two indices

This turns out to be a useful result. The Bianchi identity is essentially the Jacobi identity for covariant designation (Exercise): [Va, [Vm, Vu]] + [Vm, [Vv, Va]] + [Vm, [Va, Vp]] = 0 [Recall R<sup>B</sup> speck<sup>2</sup> [Vm, Vu]U<sup>B</sup>

Decomposition of the Riemann tensor

Recall that a generic tensor can be uniquely decomposed into symmetric and antisymmetric parts and the symmetric part further into trace and trace-free parts.

Consider e.g. a 
$$(0,2)$$
 tensor  $A_{\mu\nu}$ :  
 $A_{\mu\nu} = A_{(\mu\nu)} + A_{[\mu\nu]}$ ,  $A_{(\mu\nu)} = \frac{1}{2}(A_{\mu\nu} + A_{\nu\mu})$  symm.  
 $A_{[\mu\nu]} = \frac{1}{2}(A_{\mu\nu} - A_{\nu\mu})$  and  $A_{\mu\nu}$   
 $A = g^{\mu\nu}A_{\mu\nu}$  trace  
 $A = g^{\mu\nu}A_{\mu\nu}$  trace  
 $A = g^{\mu\nu}A_{\mu\nu}$  trace  
 $A = g^{\mu\nu}A_{\mu\nu} + A_{\mu\nu} = A$   
 $A_{(\mu\nu)} = A_{(\mu\nu)} - \frac{1}{n}A_{\mu\nu} + \frac{1}{n}A_{\mu\nu} = A_{\mu\nu} + \frac{1}{n}A_{\mu\nu}$   
 $= A_{(\mu\nu)} - \frac{1}{n}A_{\mu\nu} + \frac{1}{n}A_{\mu\nu} = A_{\mu\nu} + \frac{1}{n}A_{\mu\nu}$   
 $= A_{(\mu\nu)} - \frac{1}{n}A_{\mu\nu} + \frac{1}{n}A_{\mu\nu} = A_{\mu\nu} + \frac{1}{n}A_{\mu\nu}$ 

We can also decompose the Riemann tensor into trace and trace-free parts. Symmetries (3.16) set contractions our first and last pair of indices of R<sup>o</sup> you to zero

The only non-zero contraction is the Ricci tensor: (3.19)  $R_{\mu\nu} \equiv R^{\sigma}_{\mu\sigma\nu}$   $R_{\nu\mu} \equiv R^{\sigma}_{\nu\sigma\mu} = -R^{\sigma}_{\sigma\mu\nu} - R^{\sigma}_{\mu\nu\sigma} = R^{\sigma}_{\mu\sigma\nu} = R_{\mu\nu}$ (3.17) (3.16)

The trace of Ryn is called the Ricci scalar:

(8.20) R = R<sup>r</sup> = g<sup>r</sup> R<sub>r</sub>

(76)

The Ricci tensor  $R_{\mu\nu}$  and Ricci scalar R encode all information of  $(\overline{F})$ traces (= contractions) of the Riemann tensor  $R^{\sigma}_{\lambda\mu\nu}$ .  $R_{\mu\nu}$  symm  $(4 \times 4 - 4) + 4 = 6 + 4 = 10$  dof

The other 10 dot of R<sup>5</sup>ym are encoded in the trace-fice part of R<sup>5</sup>ym called the Weyl tensor:

$$(3.21) \qquad C_{\lambda\sigma\mu\nu} \equiv R_{\lambda\sigma\mu\nu} - \frac{2}{n-2} \left( g_{\lambda} f_{\mu} R_{\nu} g_{\sigma} - g_{\sigma} f_{\mu} R_{\nu} g_{\lambda} \right) + \frac{2}{(n-1)(n-2)} g_{\lambda} f_{\mu} g_{\nu} g_{\sigma} R_{\nu} g_{\sigma} g_{\sigma} R_{\nu} g_{\sigma} g_{\mu} R_{\nu} g_{\sigma} g_{\mu} R_{\nu} g_{\mu} g_{\mu} g_{\sigma} g_{\mu} g_{\mu} g_{\nu} g_{\sigma} R_{\nu} g_{\mu} g_$$

The Weyl known has the same symmetries as  $R_{\lambda G_{\mu\nu}}$  but all contractions of C are zero. The Weyl tensor is defined for  $\dim(M) \ge 3$  and for  $\dim(M) = 3$  $C_{\lambda G_{\mu\nu}} = O$ .

$$(3.23) \quad C_{yw} = R_{yw} - \frac{1}{2}g_{yw}R$$
From (3.22) we then get:
$$(3.24) \quad \nabla^{\mu}G_{yw} = 0 \qquad (as \quad \nabla_{2}g_{yw} = 0)$$

The trace of the Einstein tensor is :

la p = R - 4 R - - R We will soon see that the Einskin tensor enters directly in the Einstein equations.

70